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SAXON MIATH

Course 3

Find the value of each variable.

a+8=20 b-6=18 3c = 24 d-s X2 =25

a =12 b = 24 c=28 d = 32 x = 5 (and -5)
7+e=15 20-f=5 (9)4) = 20 172 ~6 W =4

e =8 f=15 g=>5 h=2 w = 16
18 =/ + 11 17 =k-4 24 = 6m 6:% |z| =

j =17 k = 21 m =4 n = 18 zZ =3 -3
14=5+q 30 =40 -r 32 = (s)(4) =24 %y=8

g =29 r =10 s =28 t = y = 16
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Course 3

1. 36

2. 12 alternates

3. 19 problems

4, 60°

5. 5 Togom =4.9m

6. mean 35.6°, median 36°, mode 38°; Half the time it was warmer
than 36°. 11.

/. x=8 12

8. w=3 x

9. z=-4

10. P = -50 13. No

p —_—
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SAXON MATH

14. a. 8lwin?

b. 18min.
15. 24 ft3
16. 0.0001 Ib
17. x-25y
18. 3x2+ X
19. 1
20. %5
21. 2
22. 2.25x10

& S——
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23.

24.
25.
20.

Course 3

49
a. 0.98; 5y

b. Answers may vary. Sample: The

1 fraction: £2($50,000) = $49,000
-2
6y*
xz°
Yes, Sergio’s claim means he can Iif’r11k9
kilograms over his head. 10,000 g - 70009 =
10 kg; Ten kilograms is about 22 pounds,
which is a reasonable weight to lift

overhead. 10 kg - % ~ 22 pounds

|lesson
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Course 3

Written Practice continued

27. Sample space B is more useful because each outcome is
equally likely, so it is easier to calculate probabilities. The P(H

and 1) :% :
28. 5yft, 5.25ft
29. a. x=5, -5

b. x=3,-3
30. a. 200in.3
b. 220in.?
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